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o VI NBEAMESDEL F:
FEHESDE| DM arity: F - N
F={f(),90),a}

o ZHDEEX X, = {z1,...,2n}

o HOEAT(F,X): UTEBLIm/INDES
re T(F,X) ... z€X
a € T(F,X) ... a€ FhDarity(a) =0
f(ty1,...,tn) € T(F,X)

.. fEF,arity(f) =n, &t; € T(F,X)
HDB - f(g(a),a)
o EIEDEAT(F): T(F,0D)




o TINILITAK:
Ot N* - FUX
tDEFEE %= Pos(t) TKRY
- f(g(a),a) Z23RI Kt
Pos(t) = {¢,1,11,2}
p [e 1 11 2
ttp) | f g a a
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o RtDEX: [t| = max{|p| | p € Pos(t)}



o XA: FAflo: X — T(F,X)
- RAcDEFE: Dom(oc) ={xz € X | o(x) # z}
- 585 Dom(o) = {x1,...,xn} o(x;) =t; DE X,
o {r] < t1,...,xn < tn} EEL
- BERELICIERLEEDZEZ S
o(f(t1,.--ytn)) = f(o(t1),...,0(tn)) (n > 0)
o Rk: WMWIE C € T(F,X) (BEHUEEHLRZW)
- XD nBDERZFDEE, LLTFTIE, BRIEEDLS
BICzq,..., 2n CHDEDET B,
C = f(g(z1),22) D& E. Cla,g(b)] = f(g(a),g(b))
- nEBHOXIRCITDOWT, Clty,..., ta] 1&.
C{xq1 < t1,...,2n + th} Z23RT,




BREAA—KFT bV

o (RhLT v )IEREMBRAT— <~ (NFTA)
A= (Q,F,Ql, 1)
-Q: REBOERES
- F : ERE=sDEAR
- Qf (C Q) : RRREDES
- A\ BRHAOESR
BEHEAIILL T ORI

f(QIaaqn)%q
T, felkF, arity(f) =n, q,q;, € Q




® WIJ : A — ({qa7QQ7Qf}7 {aag()af(a )}7 A) {qf})
CITARLUTOERNLES
a — qay 9(qa) — 49, 9(q9) — a9, f(qg,q9) — a7
- f(a,a) X9 2ENE

f Ve f
Py g I
a a {

a ] Ha o

- f(g9(a),g(a)) KX 2 EF



o ERER — ) LT 2mIm/INDES
-AC —y
C s A SIS F(ase) =g f( )
® —>j<4: %A@}iﬁq\ BT
o ANt %=1 .
t =% qcQf
o AN T DEE :
L(A) = {t|t—=%qe
o ERASFE: NFTATRHETEZDEE




o Bl : A= ({q,99,97},{a, 90, F()}, A, {qr})
a—q, 9(q) = q, 9(q) — qg,
9(ag) — a¢, f(g,9) — q
- 9(9(f(g(a),a))) ITRT 2 ENMEF
g(g(f(g(a),a))) =7 9(g(f(ag,q)))
g(g(f(g(a),a))) —% 9(g(q)) =% q
g(g(f(g(a),a))) =7 g(g(q)) =% qy

- L(A) ={g(g(?)) [t € T(F)}



o Bl (#EX) :
- ENfEDRIFKRIR
Ac:a—q, g(q¢) = ¢, 9(q) — qg,
9(ag) — a5 f(a,9) — ¢

g ¥4



o B1: F={f(,),90,a}k2WT. L1 = {g(f(a,s)) |
sc T(F)}zB#mI5NFTAZ Rt

e 82: F={f(,),a,b}IcDWVWT, UFTCEEINBEE
Lr%=RHTDNFTA %2t
-a € Lo
-sc Lol f(f(a,s),b) € Lo

10



o cfF-FEREMBRAAT—FT M2 (e-NFTA):
UTDOERDHAEEFINS NFTA
q—q
o REMBRAA— MY MY (DFTA):
ZiAHE CHRAZHFZRVWNFTA
(eRAIE R W)
o T/ NFTA:
EROEHZFLBRWVWRLICDOWT, Jq.t =% ¢
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o T DFTA DA :

A= ({q0,91}, {0, 1,not(),and(,),or(,)}, A, {q1})

0 — g0, 1 — q1, not(qo) — q1, not(q1) — qo,
and(qo, 90) — 90, and(qo,q1) — 4o,
and(q1,q90) — qo0, and(q1,q1) — q1,
or(q0,90) — g0, or(q0,91) — q1,
or(q1,q90) — q1,» or(q1,q1) — q1

- and(not(or(0,1)),or(1,not(0)))ICX T ENE
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